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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 A2 Z Hl 25,000 10,000 15,000
OZA &otg M=sl 10,000
O - Al - 223 sOsSH=sUHsE 15,000
gx2d 61,580 60,680 900
201 £B-2dH| 61,580 60,680 900
01 At 22l 61,580 60,680 900
oY - =x=g 60,200
-2 X =g 60,0008 = 3% = 118& 21,240
= A 60,000& = 2% = 118 14,160
=Xy 50,000 * 2% * 248 24,800
ogxd 1,380
PR ME ¥ A 90,0008 * 3B * 43| 1,080
-85 P2 300
gzsllgs N 70,000 70,000 0
307 21201 A 70,000 70,000 0
07 A3 XN=3 70,000 70,000 0
O38d 2x20 70,000
S AREEH EE 5,400 5,400 0
LN | 5,400 5,400 0
SR 2l 5,400 5,400 0
201 Let249] 5,400 5,400 0
01 At 22l 5,400 5,400 0
OokL=x=gs® =& 150,000& * 123 1,800
OZULRA X2+
300,000& = 1& = 123 3,600
A& = At 241,516 225,212 16,304
= 21,093
< 21,000
fia 199,423
HESAEs 2t 241,516 225,212 16,304
= 21,093
< 21,000
s 199,423
NJASAR 2CIUIOIH XI& 41,220 41,220 0
= 20,610
s 20,610
307 glz2tol & 41,220 41,220 0
= 20,610
i 20,610
02 It M AMHE L 41,220 41,220 0
OX&SALA 2CUIOIE XI& 41,220
= 20,610




SN D
Ha: XS

S NHSAES 25 (&)
= _ — d =
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| o 20,610
NHHASAEEHSE NASAMAL EE2 966 0 966
= 483
s 483
307 gl2tol & 966 0 966
= 483
s 483
02 PIZHEHAHE X 966 0 966
ONJASAA 282 X& 966
= 483
[ia 483
NASAHEEH SAES K& 196,400 176,400 20,000
< 21,000
i 175,400
307 glz2tol & 196,400 176,400 20,000
< 21,000
e 175,400
02 QIZtE M AHEE 80,000 176,400 296,400
ONESAEEH SAE2S XI& 80,000
< 21,000
s 59,000
03 BIAHMNHE2IHIEL 116,400 0 116,400
OXNJASALHE AJA ol24d] 85,680
ON3SAEEH 29 X& 30,720
A SAR 29 2,930 2,930 0
202 (44l 2,430 2,430 0
01 S LHOIYI 2,430 2,430 0
O3 SAEE =2 2,430
301 et d=s 500 500 0
09 SALAHIEA S 500 500 0
OXNJASALAE = 500
AQHE &b A4 784,947 2,288,080 A 1,503,133
= 25,780
< 17,829
e 741,338
NAEHE 5 204,890 1,152,972 A 948,082
= 13,716
< 17,829
i 173,345
2508 243t 4,700 10,600 25,900
201 Let24E] 200 6,100 5,900
01 At 2t 2l 200 100 100
OZFEs0E 88 9 50,000& = 44 200
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 4,500 4,500 0
09 HALAHIEA S 4,500 4,500 0
OZES0ISFY NS 224
100,000& * 45%H 4,500
d=2s0E 29Edst 32,000 0 32,000
< 9,600
[ia 22,400
402 RI2EX 20| ™ 32,000 0 32,000
< 9,600
s 22,400
01 B2t AP E X 32,000 0 32,000
OZEz0lE 2ZEds N
8,000,000 = 4JH0t= 32,000
< 9,600
s 22,400
202 T2 )AL 84 56,458 89,066 A 32,608
= 13,716
< 8,229
[ia 34,513
101 @124l 7,000 7,608 A 608
04 JIZHHZ2XNSE+ 7,000 7,608 A 608
OZEs0te T2l SH(ZEUHE
t=) 7,000
-y 44 6403 * 198 = 140 6,250
“4UHE2E= 750,000& = 1H 750
307 21201 A 49,458 49,458 0
= 13,716
< 8,229
s 27,513
02 It S AHE L 49,458 49,458 0
OFB30g Z2 Q¢ NEL (HEES S+
EESU0,=013M2S0I2) 49,458
eIl 1,270,000& = 3% = 12& * 90/100 41,148
= 13,716
= 8,229
i 19,203
RS 15,240,0009 * 3% * 1/12 3,810
-AHEE = 1,500,000& * 3H 4,500
sz ESHOX 2¢ 77,024 59,262 17,762
201 £B-2dH| 34,104 16,342 17,762
01 At 22/l 1,000 1,000 0
Oagels & oo AEZ 1,000
02 2324l 33,104 15,342 17,762
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OWLZEHOIX KFAE ==
35,640,000& = 10/100 3,564
OUMZ2S - sHAHARASHOIX FANE=
22,800,000& = 10/100 2,280
OAGEZXEEEMHOIXN RANE=+
30,532,000& = 10/100 3,054
ONEINAUMESHOIX RXE=
55,240,000& = 10/100 5,524
=IIsCXE02 SHOIX RAEs
186,811,000& = 10/100 18,682
301 et d=s 7,920 7,920 0
NJIEEd=s 7,920 7,920 0
ODEI R AR FDE XA
20,0003 = 119 = 34 ~ 120H& 7,920
307 gl2tol & 35,000 35,000 0
05 BIZHRIE 3 35,000 35,000 0
ORJIIsLXNEDNN ALY 2
35,000,000& * 14 35,000
dE2E8Es49 L3t 34,008 30,416 3,592
101 @124l 536 536 0
04 D12t 22 HEE =+ 536 536 0
OHEStusE 2e| 44,6403  1H * 12 536
201 ¢4l 32,680 29,880 2,800
01 At 22l 32,680 29,880 2,800
O=2U3EE W= 32,680
LAt 28,000 * 20Al2t * 531+ & 29,680
-1 TH A= 10,0002 * 300& 3,000
307 21201 A 792 0 792
05 RIZt2E = 792 0 792
OzUEEstusd FAIHAAE KA
66,000& = 12& 792
NEHESI=LEs 23 700 700 0
201 Let24E] 700 700 0
01 At 2t 2l 700 700 0
OXNGEESEANE AR &
70,000& = 10 ~ 13 700
HYH L3 580,057 1,135,108 A 555,051
= 12,064
s 567,993
ANz HZZEAAE S=ZH WA 36,699 38,770 22,071
= 8,520
s 28,179
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201 Le-2d| 36,699 38,770 22,071
2 8,520
s 28,179
01 At 22l 36,699 38,770 A2,071
OANZ? HEFFHEAAE =3 WA Xz 36,699
= 8,520
s 28,179
ANZF Mol =22HAH 2= 15,601 15,601 0
=2 3.544
e 12,057
201 L2l 15,601 15,601 0
2 3,544
e 12,057
01 At 22l 15,601 15,601 0
ONZ? MH=SZHH 25 %2 15,601
2 3,544
s 12,057
NZRHEFZIEAAE 29 111,977 100,353 11,624
308 XtXIEHHSOIA 111,977 0 111,977
10 3J/2S0HUeB S HAALS I 111,977 0 111,977
ORTUZO0tAIAE SN2 4,884,0008 14 4,884
OANZRHEIZIZBAAE S/W2Z<IEHI
7,000,000& = 14 7,000
ONZTHEIFZIZBANAE HW S XE=x
100,093,000& * 14 100,093
dAEH 2 R wX2el 145,349 63, 154 82,195
201 Yet2 | 48,823 45,402 3,421
01 At 22l 2,288 2,288 0
OQHY JtH ZEH EUY 92,000& = 144 1,288
OHESNSY 485 250,000& = 404 1,000
02 3323l 46,535 43,114 3,421
OLEASE MLEH KA 40,885
-3 1,200,000 = 390CH = 7/100 32,760
-Zgg 650,000&  250CH * 5/100 8,125
OQEHSIH &Hl KX b 2,229
-2 & 1,161,180& * 28CH * 6/100 1,951
-Zglg 330,000& * 14CH = 6/100 278
OYEZZHE KX 3,421
-UMESHHS A 19,605,000& = 6/100 1,177
-~ AR =S 2 27,390,000& = 6/100 1,644
A2 s 10,000,000& = 6/100 600
202 oddl 7,776 7,952 A 176
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01 = LH 4 bl 7,776 7,952 A176
OFAFHl 22l B2 7,776
405 TtabF S| 88,750 9,800 78,950
01 AL ESH SHI 88,750 9,800 78,950
OdHZ ML EH 2 88,750
-AFH 1,300,000 = 50CH 65,000
-LE=S 1,350,000& = 504 6,750
-ZEH 850,000& * 20CH 17,000
HEHURE AAE KX 2el 175,166 128,908 46,258
201 Let24E] 163,856 128,908 34,948
02 =224l 163,856 128,908 34,948
OHAIAAE SAB(ARHHE) 6,292
-NH 38,596,000& * 7/100 2,702
-T2 35,900,000 * 10/100 3,590
QUOIEHHIoOIA(QetE) Z208 R
144,307,000& =+ 12/100 17,317
OlaLe|0AAE Z208 Xl 4,770
-T2 47,700,000% * 10/100 4,770
OdXZ2HAIAE 228 KXY
117,541,0002 = 7/100 8,228
OXNZZAIAE T2 KX
45,160,000% * 10/100 4,516
OHEARAAE S =X 63,879
S EXHBAIAE(KLIS) R XUl 14,580
- A H 134,300,000& * 7/100 9,401
-ZZ0HY 51,789,610& * 10/100 5,179
- A2 ESHOIKAIAE =X bl 7,834
- A H 41,910,000& = 7/100 2,934
- & M B (WAS) 49,000,000& = 10/100 4,900
—DEIFRL A - W AEEH EHOIXIAIAE KX
=l 7,569
- A H 66,700,000& * 7/100 4,669
- & A (WAS) 29,000,000 * 10/100 2,900
MU ZHAIAE AB S X
142,933,000 * 7/100 10,006
IS ZAIAE AH KXY
94,322,000& = 7/100 6,603
“AZOlE - SHAIZAEHOIXAAYE R
=l 19,250,000% = 7/100 1,348
-ADEOIES AIAE | E=H 5,260
- M 8,000,000& * 7/100 560
-EZH 47,000,000& = 10/100 4,700
“ENMZCAAE KRB 1,271
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- M 18,150,000 = 7/100 1,271
-HE JtaStAIAE X2l
134,400,000 * 7/100 9,408
OXAA SHATAIAY S E =4I
5,450,000& * 7/100 382
O&Es02 8HO0IX |RXAE=Hl
15,000,0009 * 441 = 10/100 6,000
OR2RXH(SMS) & AHEZ
1,000,000 = 1290 & 12,000
O=2UetAIAE R 224l 21,100
- Nt (H/W) 215,000,000& = 7/100 15,050
- T2 (S/W) 60,500,000& = 10/100 6,050
HI=sOXEDa 4 S
82,173,700& = 7/100 5,753
OLREPC M FHEH2AIAE XY
53,082,950& * 7/100 % 9/12 2,787
OAMAEEZHMN 28 KX 2,962
2L E 13,134,000& * 6/100 789
-Ue2LE 36,201,000& = 6/100 2,173
OBFRAFBIFUSE IIATIAALE S E 44 5,790
- A (H/W) 74,140,000& = 7/100 5,190
- Z2 22 (S/W) 6,000,000& = 10/100 600
OSEZIOA(SSO)AIAE FX2e] 2,080
308 A EHHSOIA 11,310 0 11,310
10 B2 S0t B a XA 11,310 0 11,310
O2UetAlAE 2 X3 S AL
11,310,000& » 14 11,310
UBtARE WMIXl S/W 22l 89, 165 70,570 18,595
201 Lt AL 89,165 70,570 18,595
01 At 22/l 89,165 70,570 18,595
OEHAAE 2ZERN 7,728
-LENE NETHH 644,000& * 12user 7,728
Ogdl ATEYN 22,000
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—YEX 10, 100& = 720user 7,272
O2AXNA AZTEAN 550,000& * 3user 1,650
OWindows Server 2012 1,200,000 » 54| 6,000
OWindows user CAL 2012 50,000& =* 700user 35,000
OWindows Server CAL 2012 45,0003 = 7cal 315
OWindows External CAL 2012
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OdFIZA T M2 228 & 6,700
23 od=d 6,100 6,100 0
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Ny HO9SEANS S8 GEYL P
el DEE HESHAHA D CERED
(o
SA BB (3H) - NRAY - B Ol At o %@i HRE2
- 28YH E-2009
2,293,000& * 20CH * 6/100 2,752
- 28 E-2010
2,437,000€ « 5004 * 6/100 7,311
-A4 St 2 -2009
7,952,000& = 7CH * 6/100 3,340
-XH&EHH 2-2009
34,050,000 = 1CH ~ 6/100 2,043
-HelolEs&-2010
11,942,000 = 19CH = 6/100 13,614
-HelolEs&-2011
11,276,000 = 8CH * 6/100 5,413
-0eloIBESsE(B&) 1x-2013
4,247,000 = 20CH = 6/100 5,097
-0El0IBESE(B&) 2x-2013
4,689,500 = 20 ~ 6/100 563
-OINStsZE0ISHEI|IE 1X-2013
6,963,0009 * 2504 * 6/100 10,445
-OINStsZE0IS2HE I 2X-2013
4,207,000& = 9§ * 6/100 2,272
-OINStsZ=0IS2HE 0|2 3X-2013
3,870,000& * 9CH = 6/100 2,090
-OINStsZ=0ISHEJ|IE 1X-2014
6,738,0009 * 3204 * 6/100 12,937
-OINStsZ=0ISCHEI|IE 2X-2014
4,953,000& = 3CH ~ 6/100 892
-2lol8EsE-2015
(5,390,2809 = 20CH = 6/100)/128 » 6¥ 3,235
oy &g CCTV &8Jl=
10,000 = 225004 = 12& 27,000
307 2Iz2t0| & 230,400 0 230,400
05 QIZ2tR EF 2 230,400 0 230,400
ORLHIE S2AMY
2,400,000& = 8¥ * 12& 230,400
ZUHESE 2 (BeN) RE(2IHAEXSH) 136, 126 0 136, 126
& 40,838
= 95,288
402 SI2FXHE0| & 136, 126 0 136, 126
= 40,838
= 95,288
02 OI2HCH & AF S HI 136, 126 0 136, 126
OsZ&XY9 ZHEsSEY 25 136, 126
& 40,838
= 95,288
HEEEAMZBA AI2E 2 Al 11,470 0 11,470
201 Bt 1,750 0 1,750
01 AP 22| H| 1,750 0 1,750
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5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OZESHUIA AFEX S ALEH WEH|
250,000& = 700 = 13l 1,750
202 O4dl 9,720 0 9,720
01 = LH 4 Hi 9,720 0 9,720
OZESHIA AFZEX S AL EEA A 9,720
OtMst sE0tE 2SI 329,500 0 329,500
< 93,600
e 235,900
401 A& HIZ 2018 329,500 0 329,500
= 93,600
s 235,900
01 A& HI 328,720 0 328,720
OCCTV & Xl 311,220
< 93,366
s 217,854
O=MAg 2 X& 17,500
-& 41 CCTvV £x 7,500
-&1J11 CCTV & X 10,000
03 A& S THHI 780 0 780
OCCTV &XI A& =0 780
< 234
s 546
oiglolerd CCTv & X 110,000 0 110,000
Xl 55,000
[ia 55,000
401 AIEHI L 20 110,000 0 110,000
Xl 55,000
[ia 55,000
01 A& HI 110,000 0 110,000
Oo&ol etd™ ¢cCTv & X1 110,000,000& * 14 110,000
Xl 55,000
i 55,000
Zs8uw CCTVEAANAE 2= 112,000 0 112,000
X 56,000
< 56,000
401 Al HI K 201 I 112,000 0 112,000
Xl 56,000
< 56,000
01 A& HI 112,000 0 112,000
OxS&w CCTVHAANAE 2=
112,000,000& * 14 112,000
X 56,000
< 56,000
HE MO FESAL 2F 427,998 0 427,998
FESHAIAE 2 Ald 2 145,288 0 145,288
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Sl OFIO HBSHY 2Y (B9 ®R)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
2Bt A | 123,733 123,733
01 At 22|l 400 400
OFAXA El 100,000 * 404 400
S22 123,333 123,333
OFUSNEZ KAl 2,000,000& = 14 2,000
OSAAY & 3ld OlMEXbI
2,000,000& = 23| 4,000
ORF® MAFHI(UPS) = Xldl 6,752
-& Ak 47,021,000& = 6/100 2,822
-S4l 12,059,000 = 6/100 724
-sllsdH, 32N, SH, n=e&
3,561,200& * 154 = 6/100 3,206
OFUEESAL KX
244,797,820 = 6/100 14,688
OE0lAME J7XH 75,410,000& = 7/100 5,279
O2NFLENY UEAIFY RN
114,190,000& * 7/100 7,994
OMHEE UWERIAZEH KX
80,963,000& = 6/100 4,858
O&EAYXIAIAE(IPS) KX I
36,800,000& = 6/100 2,208
OUESIATEZ MO AIAE(NAC) S Xl
115,240,000& = 6/100 6,915
OISO AAE RIIYI 1,408
-2 2 IPIHOilct 12,217,000& * 7/100 856
-POP TV 4,600,000& = 2CH = 6/100 552
O&ZE KX 74,469,000% = 6/100 4,469
OIPESAIAE 2Bl 549,744,000& * 6/100 32,985
OSEHRLIAOE (UIC)AIAE FXIHI
49,500,000& = 10/100 4,950
OFAX S Xlbl 379,500& = 1104 = 6/100 251
ogeasll sl 3,324
-S4l 13,090,000 * 6/100 786
-& Ak 15,345,000& = 6/100 921
-EAM1 26,950,000 * 6/100 1,617
OUEMHIA S ZHI(MSPP) S Xl I
206,067,000 = 6/100 12,365
OZaHZH Rl 96,279,000& = 6/100 5,777
OUESZD £ 2 EAIAE(Q0S) KXl
51,818,000& = 6/100 3,110
405 THabF S| 21,555 21,555
01 AL EFH S 21,555 21,555
OSN3 AIAE WH 21,554, 170& 14 21,555
&l 5 oF 53,922 53,922
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 Le-2d| 22,572 0 22,572
02 =224l 22,572 0 22,572
Oogste KX 32,000,000% * 6/100 1,920
ogests KXl 36,000,000& = 6/100 2,160
OEdE2AANAS(AIIH) S
48,000,000& * 6/100 2,880
OUEHZD IPA2IAIAE S
(67,574,000 = 6/100)/12&8 = 7& 2,366
OMNUBESSLXNAAE S|
39,000,000& = 9/100 3,510
OFUHEMZMMEtAIAE Sl
27,250,000& = 9/100 2,453
ONZRELXALAE S
68,550,000& = 7/100 4,799
OFAFEN LAZTEANH KX
27,600,000& = 9/100 2,484
405 XtatE SHI 31,350 0 31,350
01 HAtH ESFH S 31,350 0 31,350
Ok® &3ty WHl 31,350,000& * 14 31,350
FESHY gz & B3RS 228,788 0 228,788
201 ¢4l 228,788 0 228,788
02 =224l 228,788 0 228,788
OgBtdEg AH2F 50,0008 » 11184 » 128 66,600
OSY d3Ms & WANY HE3IHE
31,700& = 613l& « 128 23,205
O8H HUIH & H2E AHUIEE
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